Jenson Cabinet U R B A N

Cabinet Jenson

Assembly Instructions / Instructions d'assemblage BARN

PARTS PACKING CONFIGURATIONS / PIECES ET CONFIGURATION

A. Cabinet x1

B. Left Metal Leg/ x1
Patte de métal -gauche

C. Right Metal Leg/ X1

Patte de métal -droite

Hardware enclosed in carton / Matériel inclus dans la boite| Jenson Cabinet Fully Assembled

No Description Image |qQty/qte| Cabinet Jenson assemblé
1 Allen Bolt (1/4" x 1-3/8")
Boulon Allen (1/4 po x 1-3/8 po) X &
All Bolt (1/4” x 5/8"
2 Boﬁ?onoAtII(eé (1)/(4 |</>o)x 5/8 po) X 4
3 Lock Washer (1/4") 8
Rondelle d'arrét (1/4 po) X ° ‘
Flat Washer (1/4) S -
4 Rghde?Ise Slrate (1/4 po) x8 ‘n\ - l/j a
5 | fjlenKey X1 00:10 5

Fully Assembled
Assemblé




